
Remove the nuts from each side from the top inner swingarm knuckle.

Remove the bolt holding the inner brake hose clip.

Replace the bolt with the M6 X 45mm hex head stainless bolt supplied, fully tighten.

Fix the long end of the welded bracket over the protruding end of the bolt. Fix the other end over the 
swing arm knuckle bolt. Refit original nut.

Fix the rear point using an M6 penny washer and M6 nyloc nut. Fully tighten both nuts.

Fit the remaining bracket to the near side (left-hand side) point. Replace the nut, do not fully tighten. Fit the remaining bracket to the near side (left-hand side) point. Replace the nut, do not fully tighten. 

Slide the Pyramid Hugger into position and fix to the near side bracket (left-hand side) using
M6 X 12mm stainless bolts, M6 penny washers and nyloc nuts. The M6 penny washers are fitted on the 
inside of the Pyramid Hugger to spread the load.

Fix the other side in the same way using the M6 X 16mm stainless bolts.

Adjust the Pyramid Hugger before fully tightening the near side nut and fitting bolts.

Check all fixings periodically.

Kit Includes:
1X
1X
1X
2X
2X
5X5X
5X

C073870
CFK073870
CBOLM60023
CBOLM60008
CBOLM60007
CWASM60008
CNUTM60003CNUTM60003

Hugger Moulding (with spray suppression)
Mounting Brackets (pair)
M6 X 45mm Hex Head Stainless Bolt
M6 X 16mm Stainless Bolt
M6 X 12mm Stainless Bolt
M6 Penny Washer
M6 Nyloc NutM6 Nyloc Nut

073870 Kawasaki GTR1400 Hugger Fitting Instructions

Any questions?
sales@pyramid-plastics.co.uk
+44 (0)1427 677990
www.pyramid-plastics.co.uk

Follow us on social media and 
feel free to leave us a review!


